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‘The figures in the margin indicate full marks
for the questions. '

Answer either in English or in Assamese.

TRG) A TS T FRAM|

1. Select the correct alternative from the following :
1x10=10

oo Al TR ok ww Teals AR Sfereat ¢
(i) The fastest rhemory in a computer is
FATHR oo o [T GRIRE! T
(@ ROM (b) RAM
@ &

(© Cac;he memory (d) None of these
@7 oWR W oIS =T
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(11) Whlch of the followmg is the largest
memory unit ? ‘

wote TEie mwﬁmwmmﬁ

285 ?
(a) Byte . (b) Bit
S 1E - &
(c) Kilobyte (d) Megabyte

RecRIZs CISIRIZG
(iii) The stofage device that has highest cost per
‘bit of storage is

weTe il sieen wifkery fTese @R
coae ofs R FeTT I WHRSE RiRe

(a) RAM
(e

(b) Hard disk
6 %

(©) C;'ompact disk
g fog

(d) SD card
@5 T
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(iv) OMR stands for
OMR Wi ¥«

(a) Optical Memory Reader
TeiftEe W Rolr

(b) AO.ptical Mark Reader
Seifbe I Ko

(c) Optical Mark Regulator
Toiforea WE  (RVTEHI

(d) Organised Memory Reader
weAiREe Gt [Rew

(v)' GUI stands for
’ GUI I\ =4

(a) Graphical Universal Input

(b) Group Universal' Interface :
ghol YOI SHORETS

(c) Graphical User Interface
2HifFceel e SHOIRCTS

(d) Group Universal Input
ehot FRSRTEE 20
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(vi) To perrhanently delete-a file or folder from
the computer, which of the following must
be pressed ?

mﬁﬁamwmwﬁw
AP FRIT FRCA S5 (P! AT | 2

(a) Ctrl + Delete (b) Alt + Delete
W + fofen =5 + i

(c) Delete + Enter (d) Shift + Delete
fofe + «=orR oo + &G

(vii) Machine language is also called ?

ciod o s & om I R =@ 0

(a) High level language
3R Cered ot

(b) . Assembly language
GO S

() C+
5 ++

(d) Low level language
& (FCoe ol
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(\}iii) Which of the following is an application

(ix)

software ?

wee ST (I AN RFRSEE ¢
(a) Microsoft office
NZEETe ST

(b) Database Management System
GoEE (IHSCTro BHrew

(¢) Image Editor
Ele MG

(@ Al of these are correct
SBIRFH! ¥R

Which of the following does not come
under the guided media ?

W%‘mﬁ@mmdﬁmw
q9AC 2 '

(a) Optical fiber (b) Coaxial cable
oAflorra iR PG A

(c) Microwave (d) Twisted Pair

P ETIE ) - {3P0C (°RN
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(x) Which of the following layer is absent in
" TCP/IP model ?

@ee B@ERe @Heel ©99 TCP / IP StTes

YT 2
(a) - Presentation (b) Physical
(TS feefercaet
(c) Application (d) Network
SR » e
2. Answer the following questions : - 2x5=10

oot Al empTRs el fordl 8

(i) What is mail merge ?

iZE e o2

(i) Differentiate between hardware and soft-
ware ?

PSR TiF TFHSRIA Aore siidy & ¢

(iii) What is an interpreter ?

SoRE0R MW & ¢

(iv) What is a Macro ?
o oo
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(v) Write -a general formula using which one
can calculate the sum of certain cells of the
spreadsheet. ' '

CETRE 9E WS Ree (R s
Sferig #i1 GB1 AL TN B

3. Answer any four of the following questions :

. 5x4=20

were fAm e R it wifdBi S o s

‘(i') Describe the memory hierarchy of a
computer system.

<51 FRoISHR BreR m’%’tmﬁzﬁam
I 9

(i) What is deadlock ? How deadlock can be
avoided ?

W’@'ﬁ?m’mwmwﬁ#
e

(iii) What do you mean by information kiosk ?
Write how information kiosk can help in
agricultural development in India.

oy BT & ¢ oY RabE e FR
craq Tafes e 7w IR 2w B
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@v)

v)

(vi)

What is internet browser ? How an internet
browser can help us to surf the internet ?
FVRGE JBoe . 2 THREG JeENF
FVRGE IF e v 7T I 2

What are the various types of charts
available in MS Excel ? Describe the steps
involved in creating a chart. '

| AR CETS A RiSH eeRe QTR

B 2 .93 =6 IERR R[iSH step vz ol

Describe how to make one good presenta-

tion using MS Powerpoint.

MS Powerpoint I3 IR FECE @Bl ©F |
presentation IR A ?

Answer any four of the following questions :

10x4—40

wﬁmwﬁmmﬁm@mﬁm

(l)

‘What is an operating system ? Explain the
various types of opcratmg system.

Toliao: osw & ?ﬁﬁ?ﬁmwmﬁa
oo REa 3 =11
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(ii) Define a Process. Diagrammatically explain
the life cycle of a process. '

AR @ | Toige foum wmme 2wy
«BIY FRF HIRTAD! I |

(iii) Describe the OSI Reference model.
OSI Reference Stw=es! fqt 1|

(iv) Describe about the different network
- topologies.

AT 2T G 5ol R 3ot 31|

(v) Describe the different features of MS Word.
MS Words Rfen NS 3t =11

(vi) Write about the application of Information
Technology in commercial activities such as
transportation, communication and banking.

OIS, NN WNF [P W1 AR
TR ©Y AYFR IRI| R B

(vii) Describe how to store records by using MS
Access. Also describe the advantages of
using MS Access to store data or records
to that of an ordinary file.

MS Access I IR (AT (@FETZ F067
FRT AR W W R @ GO e
HizeTold MS Access® ©lol A @F6 Ay

e ARUPTR
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(viii) Describe a computer system with the help
of a' block diagram showing different
components and interconnections. The inter-
connection must indicate the direction of
data and instruction flow among the
components.

| Rfen Tu4eT% are FoRPTRERER orEE
9! FF MCHARR SRACS IS B @B

3 1 AADe RfSw e TSR
WWW%@W‘W%W’&
Ao |
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